
7
1

www.cifial.pt | cifial@cifial.pt
www.cifial.co.uk | sales@cifial.co.uk
www.cifial.es | cifial@cifial.es

M3

56
66

48
1

Por favor entregue todas as especificações que acompanham o produto ao seu proprietário.

Nota/Note:
xxx representa diferentes acabamentos
xxx represents different finishes

Please leave all leaflets with the building owner to file for future reference.

98
3M

30
10

U
02

Cold waterHot water

Adapter
ISO 228-G1/2

Adapter
ISO 228-G1/2

Top view

Spout
(Front of faucet)

60

55

150

95

103
8
7
7

1
0
4
6

188

18

7
0
87
5
78
1
9

1
1
2
6

60

ISO 228-G3/8
Cold water

ISO 228-G3/8
Hot water

dimensões/dimensions: mm

Instruções de instalação / Installation Instructions

31721M3-xxx.U

Monocomando banheira ao chão c/ chuveiro de mão
Floorstanding bath mixer w/ hand shower

Instalador/Installer:



www.cifial.pt | cifial@cifial.pt
www.cifial.co.uk | sales@cifial.co.uk
www.cifial.es | cifial@cifial.es

M3

56
66

48
1

Por favor entregue todas as especificações que acompanham o produto ao seu proprietário.

Nota/Note:
xxx representa diferentes acabamentos
xxx represents different finishes

Please leave all leaflets with the building owner to file for future reference.

98
3M

30
10

U
02

 naodefinido 11

 naodefinido 12

 5670035 naodefinido 1
 fita adesiva azul
 

3

 5670036 naodefinido 1
 fita adesiva vermelha
 

4

-- 5020224 -- 25

----- 5020121 CuZn 2
 pf ISO1207 M4x10-CuZn
 Screw ISO1207 M4x10-CuZn

6

----- 5717016 ----- 1
 Flexivel
 Flexible Hose

7

----- 5717016/3450058-xxx ----- 1
 Bicha de chuveiro
 Shower hose

8

9132170 3410002-XXX CuZn39Pb3 1
 
 Insert

9

9132170 3410003-XXX CuZn39Pb3 1
 
 Insert

10

9132170 3410004-XXX CuZn39Pb3 1
 
 Insert

11

9132170 3410005-XXX CuZn39Pb3 1
 
 Insert

12

9132464 3320047-XXX CC757S alloy 113

9132504 3400083-XXXG 9EMED00026 114

9133221 3300223 215

9134577 3390011-XXX 1
 cj.inv.mist.
 diverter set

16

9135035 3300617-XXX CuZn39Pb3 117

9135036 3300618-XXX CuZn39Pb3 118

9135039 3300286 119

9135042 3300289-XXX 120

9135046 3300293-XXX CuZn40Pb2 121

9135047 3300294-XXX CuZn39Pb3 222

9135048 3300295 CuZn39Pb3 123

9135052 3300297-XXX CuZn39Pb3 124

9135053 3300298-XXX CuZn39Pb3 125

9135056 3300301-XXX CuZn39Pb3 126

9135473 3300889 CuZn40Pb2 1
 anel p/base
 cap

27

9135902 3300970-XXX CuZn39Pb3 128

9136362 3310351 CuZn39Pb3 2
 casquilho
 plug

29

9150147 5333047 NBR/ME0996/70 130

9150209 5710125 CuZn39Pb3 231

9150282 5661114 naodefinido 232

9150283 5661115 naodefinido 233

9159026 3300413-xxx CuZn39Pb3 134

95E0074 5711302 naodefinida 1
 Valv. Anti-retorno DW15GF
 Check Valve DW15GF

35

9ETED00514 5661522 naodefinido 136

N/A 5710290G Latão sem Chumbo 1
 Castelo Ceramico
 Ceramic Cartridge

37

N/A 5710291G Latão sem Chumbo 1
 Castelo Ceramico
 Ceramic Cartridge

38

 3458105-XXX 1
 chuv. man. ref. B1505 Nikles 2,0gpm
 hand shower ref. B1505 Nikles 2,0gpm

39

 5020035 2
 
 Screw ISO4762 M4x16-A2

40

 5020041 aço inox 4
 
 Screw ISO4762 M8x25-St-A2

41

 5020238 4
 prn ISO4026
 Set screw DIN916

42

 5020291 243

 5310053-178 70NBR 150N 4
 O-Ring
 O-Ring

44

 5310071-178 70NBR 150N 10
 O-Ring
 O-Ring

45

 5310133-240 70NBR 150N 1
 O-Ring
 O-Ring

46

 5310186-240 70NBR 150N 1
 O-Ring
 O-Ring

47

 5310220-250 70NBR 150N 1
 O-Ring
 O-Ring

48

 5310253-240 70NBR 150N 2
 O-Ring
 O-Ring

49

 5310600-300 70NBR 150N 1
 O-Ring
 O-Ring

50

 5700461 aço inox 4
 
 Washer M8, DIN6798A

51

 5C07161 152

(x4)
O-rings

5310071-178

cj.inv.mist.

3390011-XXX

(x1)

diverter set

Castelo Ceramico

5710290G

(x1)

Ceramic Cartridge

Castelo Ceramico

5710291G

(x1)

Ceramic Cartridge

Desenho NºCódigoMaterialQt.DesignaçaoPos

Instruções de instalação / Installation Instructions

31721M3-xxx.U

Monocomando banheira ao chão c/ chuveiro de mão
Floorstanding bath mixer w/ hand shower

Instalador/Installer:



Kit with 2 plugs, one 
cap and 4 o-rings for 
the floor manifold for 

the frestanting bathroom 
faucet 

www.cifial.pt | cifial@cifial.pt
www.cifial.co.uk | sales@cifial.co.uk
www.cifial.es | cifial@cifial.es

Instruções de instalação / Installation Instructions

31721M3-xxx.U

M3
Monocomando banheira ao chão c/ chuveiro de mão
Floorstanding bath mixer w/ hand shower

56
66

48
1

Instalador/Installer:
Por favor entregue todas as especificações que acompanham o produto ao seu proprietário.

Nota/Note:
xxx representa diferentes acabamentos
xxx represents different finishes

Please leave all leaflets with the building owner to file for future reference.

98
3M

30
10

U
02

A

The rough of the installation (A) has a kit of protection/test attached (B2) that must be 
removed before installing the exposed faucet (C). The same 4 screws (B3) used to attach 
the kit are used to attach the faucet (D).

D
B

B2

B3

B1

C

95

2
2
,
5150

6
3

M
i
n1
8Min  96

Max 100


	Sheet 1
	Views
	new_view_1
	left_2
	top_30


	Sheet 2
	Views
	EXPLODIDA_II


	Sheet 3
	Views
	new_view_21
	new_view_23
	new_view_25
	new_view_26
	new_view_27
	new_view_29



